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1. Choose the correct alternative that will continue the same pattern and replace the
guestion mark in the given series.

8,28, 116, 584,?

(a) 1752 (b) 3502 (c) 3504 (d) 3508

2. Choose the missing tern (?) from the given alternatives.
N5V, K7T, ?, E14P, B19N
(a) HO9R (b) H10Q (c) H1OR (d) I10R

3. Select the best alternative having the same relationship as per the given pair of numbers.
6:222::7
(@) 7:210 (b) 7:336 (c)7:343 (d)7:350

4. Choose the number which is different from others in the group.
131,151, 161, 171
(a) 131 (b) 151 (c) 161 (d) 171

5. If in a certain language, EXECUTIVE is written as TCIEUXVEE, then how is MAUSOLEUM
written in that language ?

(a) LSEUOODAUMM (b) AUUCOSLMM

(c) AUEUOSEMM (d) SLUEOAUMM

6. Rahul told Anand, “Yesterday | defeated the only brother of the daughter of my
grandmother”. Whom did Rahul defeat ?
(a) Son (b) Father (c) Brother (d) Father-in-law

7. A rat runs 20’ towards East and turns to right, runs 10’ and turns to left, runs 9’ and turns
to left, runs 5’ and then turns to left, runs 12’ and finally turns to left, and run 6’. Now,
which direction is the rat facing ?

(a) East (b) West (c) North (d) South

8. If + means +, — means +, x means — and + means X, then :
(36 x4)—-8x3 I
4+8x2+16+1

(@)o (b) 8 (c)12 (d) 16
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9. The five consecutive Problem Figures form a definite sequence. Select one of the figures
from the set of Answer Figures which will continue the same sequence.

(@) (b) (c) (e)

(d)
(d)
10. In Problem Figures, there is a definite relationship between figures A and B. Establish a

similar relationship between figures C and D by selecting a suitable figure from the Answer
Set that would replace the question mark (?) in figure D.

AN XX[<>] 2
3>

(a) (b) (c)

(a) (b) (d)

(a) (b) (c) (d)
11. Select the appropriate word or phrase for the given fill in the blank in the sentence:
The villagers the death of their leader by keeping all the shops closed.
(a) consoled (b) avenged (c) mourned (d) protested

12. Four possible situations for the underlined part are given. Select the response which is
better than the underlined part.

If it will rain, the match will be abandoned.

(a) If it rains (b) If it would rain (c) If it rained (d) No improvement
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13. Choose the word which is nearest in meaning to the given key word.
Prognosis
(a) calculation (b) forecast (c) measurement (d) ignorance

14. Choose the word opposite or nearly so in the meaning of the given word.
Virtuous
(a) vicious (b) ethical (c) moral (d) upright

15. Select the alternative which can be substituted for the given words or sentence.
A man who hates marriage.
(a) polyandrist (b) bigot (c) misogamist (d) widower

16. Change the voice of the given sentence.

Do you know her ?

(a) Are you known to her ? (b) Is she known by you ?

(c) Is she known to you? (d) Has she been known by you ?

17. Select the lettered pair that has the same relationship as the original pair of words.
Shrub : prune ::
(a) Beard : shave (b) Hair : trim (c) Lawn : mow (d) Wool : shear

18. Choose the exact meaning of the underlined idiom /phrase.
He threw cold water over the project that the secretary had prepared.
(a) supported (b) encouraged (c) cleared (d) discouraged

19. Select the sentence which best expresses the same sentence in Indirect speech.
She said, "Let them play".

(a) She advised that we should be allowed to play.

(b) She advised that you should be allowed to play.

(c) She advised that they would be allowed to play.

(d) She advised that they should be allowed to play.

20. Fill in the blanks with appropriate alternative.
the timely help the patient would have died.
(a) Inspite of (b) Because of (c) But for (d) Hasn’t it been

21. IIHAI3 HH 2 I & gedl I § 53 R g &8 ur faar I | T feg fagam wiH
s adl I
(a) I& (b) JH (c) ftmirg (d) H
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22. A1 3 for 3f® 973 A Ufos’ € fder 37 A 7ga 3t Hee dov | T feg s
YIHedl UFSE IS ?
(a) © (b) f3& (c) @9 (d) e

23. I3 fBfemit fed faga™ uga<l dc ASUe o+ MIGHTTS UFa< © AHTAT gU @
I A I 7
(a) ATZT+GITr (b) II+Jg (c) Ig+fed (d) fAgzT+3er

2L. foxdg Wigre Wil S8 wiaAd SHET T AeY St J | T R ¥ f3fanr & g
a3 :
(a) forie (b) aAHT (c) T= (d) E=t

25. faaus Ty fer <9 & ygrdt § widt &J1 At Bargel grder ud Wt SAs < farrd
feg J IJt St I79 AU A B § feu nix fod fex =<t o It fimrr | 27 feg ffamr
fonme & uge a9

(a) o =<t (b) &I HF (c) WISt (d) feg

26. “Ad" I I8 3 T 4 2 AT TB!" ATIHIZ & FF It wiuE3 39 Bfgn &% HidTI §
fen faar| @ feg wisHfg3 UaHeeoa feire J .
(a) A" g (b) WIES (c) =T d CIRER

27. I &9 wET Ayt fed faogr mee-rAgt U At I -
(a) AT, I &, TAH (b) ATEaT JIrfenwr, JaH
(c) AIF=esT, JWrfan JarH (d) A=, JWUTHwT, JA™H

28. S8 four feg I9 B &7 U8 | T feg fages w3 GRSt et & U &3
(a) BT (II3HS f9IE3) (b) BT (I3 fI9E3)
(c) IT (FI3HG f5IE3) (d) I3 (I3 faaE3)
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29. ‘B3 WI3T" HI=d T WIE J f
(a) foA T ygg-Ag = (b) fSfenr S
(c) B Qe (d) fSfenr =

30. ‘IS ST ITFST HIES T WIH I

(a) ISt € 8 feg IF UGe" (b) WIT-HIT W@ Aer

(c) fasehim B & fimirg Jer (d) II-SI FI&!

31. The firewall is used in a computer for:

(a) Data transfer (b) Non-Repudiation

(c) Managing Password (d) Preventing unauthorised access

32. Hybrid types of computers take the data in the form of:
(a) digital (b) Analog
(c) digital and Analog (d) none of these

33. Resolution power of computer is measured in
(a) pixels (b) bytes (c) bits (d) all of these

34, A program that is used to view websites is called a
(a) Browser (b) Web viewer (c) Spreadsheet (d) Word processor

35. The identification given to a computer connection in an internet network is known as:
(a) Process ID (b) IP address (c) SYSID
(d) System Serial Number

36. While using emails, what enables us to send the same letter to different people ?
(a) Macros (b) Template (c) Mail merge (d) None of these

37. In Microsoft Word, the process of removing unwanted part of an image is called:

(a) Hiding (b) Bordering (c) Cropping (d) Cutting

38. function in Microsoft Excel worksheet represents the total number(s) of
entries in the cell(s).

(a) SsUM() (b) AVG() (c) COUNT() (d) TOTAL()
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39. To return the remainder after a number is divided by divisor in Microsoft Excel, we use
the function:
(a) ROUND() (b) FACT() (c) MOD() (d) DIV()

40. In Microsoft PowerPoint which is the Shortcut key to start a presentation from the
beginning?
(a) F5 (b) ALT + F5 (c) CTRL+F5 (d) SHIFT+ F5

41. Which city was the capital of Punjab before India got independence?
(a) Chandigarh (b) Amritsar (c) Lahore (d) Delhi

42. “Pio Puttar” is a Punjabi novel written by
(a) Surinder Singh Narula (b) Sant Singh Sekhon
(c) Jaswant Singh Kanwal (d) Sohan Singh Sital

43. Who out of the following first introduced Nanak shahi coins?
(a) Maharaja Ranjit Singh (b) Banda Singh Bahadur
(c) Baba Deep Singh (d) Maharaja Dilip Singh

44. Which among the following district doesn't fall under the Doaba area in Punjab ?
(a) Hoshiarpur (b) Nawanshahr (c) Pathankot (d) Jalandhar

45. Which female folk singer is popularly known as "Nightingale of Punjab”?
(a) Nimrat Khaira (b) Jasleen Roya (c) Surinder Kaur (d) Dolly Guleria

46. Who is known as Punjab Kesari ?
(a) Lala Rajpat Rai (b) Sardar Patel (c) Bhagat Singh (d) Pratap Singh Kairon

47. What is the Greek name of river Jhelum ?
(a) Hydaspes (b) Hydroatis (c) Hyphasis (d) Hesidros

48. The word 'Punjab’ is taken from which language ?
(a) Punjabi (b) Urdu (c) Arbi (d) Persian

49) Which Indian freedom fighter killed a British officer in Britain?
(a) Bhagat Singh (b) Chandra Shekhar Azad
(c) Udham Singh (d) Ashfaqulla Khan
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50. Waris Shah, famous Punjabi poet, is known for the poetic narration of which romantic
story ?
(a) Sassi Punnu (b) Heer Ranjha (c) Sohni Mahiwal (d) Mirza Sahiban

51. Which of the following is the best source of vitamin A ?
(a) Sweet Potato (b) Poultry (c) Legumes (d) dairy products

52. The best place of social development for a 12 years old child is :
(a) neighbourhood  (b) family (c) playground (d) watching movie

53. Which one of the following is best suited for emotional development of children?
(a) Democratic classroom environment

(b) No involvement of the teachers in classroom

(c) Controlled classroom environment

(d) Authoritarian classroom environment

54. Which one of the following ways is NOT a suitable way to help hyperactive children
learn?

(a) Offering alternative ways of learning

(b) Including physical activity in their daily schedule

(c) Reprimanding them often for being restless

(d) Breaking up a task into small, manageable segments

55. Inclusive education assumes that we should change the to fit the .
(a) child / system (b) system / child
(c) environment / family (d) child / environment

56. Which one of the following is the main target group of family welfare programs?
(a) Couples in the fertile age (b) Male after fertile age
(c) Children below 12 years (d) Women after fertile age

57. The integrated child protection scheme is under which ministry?
(a) Ministry of Health and Family Welfare

(b) Ministry of Social Welfare

(c) Ministry of Women and Child Development

(d) Ministry of Education

58. This is an ideal food for newborns and young infants (Up to the age of six months):
(a) soya milk (b) rice cereal
(c) breast milk (d) iron-fortified formula
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59. Which of the following diseases is caused by protein-energy malnutrition?
(a) Angina (b) Goiter
(c) Marasmus (d) Tuberculosis

60. Which of the following is an example of non-communicable diseases ?
(a) Cancer (b) Diabetes (c) Hypertension (d) All of these

61. If a child has the mental age of 5 years and chronological age of 4 years then what will
be the IQ of a child ?
(a) 80 (b) 125 (c) 100 (d) 120

62. A child writes with his / her left hand and is comfortable doing things with it, she he
should be

(a) forced to write with the right hand (b) discouraged to write with left hand

(c) allowed his preference (d) seek medical help

63. Pre-primary school Education stage for children is between
(a) 3 to 6 years (b) 2 to 8 years (c) 5 to 6 years (d) 4 to 8 years

64 Which of these is a characteristic of a child with learning disability ?
(a) An 1Q below 50

(b) Bullying other children and engaging in aggressive acts

(c) Doing the same motor action repeatedly

(d) Difficulty in reading fluently and reversing words

65. Which vaccine is NOT included in Indradhanush mission ?
(a) Tuberculosis (b) Measles

(c) Meningococcal meningitis (d) Diphtheria

66. Identify the given image.

(a) National ambulance service (b) Medical Staff
(c) International Red Cross (d) Dhaka plan

67. Anganwadi Supervisor has to advise troubled employee to improve his performance.
Which function of management she is performing

(a) Motivation (b) Personal counselling

(c) Communication (d) Controlling
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68. Alzheimer's and osteoporosis are examples of
(a) communicable discases (b) degenerative diseases
(c) non-communicable diseases (d) none of these

69. Which of the following vitamins is also known as Ascorbic acid ?
(a) Vitamin A (b) Vitamin B (c) Vitamin C (d) Vitamin E

70. Which of the following is/are responsibilities of Anganwadi helpers ?
(a) To cook and serve food to children

(b) To clean Anganwadi premises daily and fetching water

(c) To bring small children from the village to the Anganwadi

(d) All of these

71. Olympic champion Neeraj Chopra won which medal in the 2022 World Athletics
Championships ?

(a) Gold (b) Silver (c) Bronze (d) None of these

72. Soorarai Pottru, which was declared the ‘Best Feature Film’ in the 68th National Film
Awards, is from which language?

(a) Malayalam (b) Tamil (c) Telugu (d) Kannada

73. Which state was ranked first in the NITI Aayog’s India Innovation Index (2021)?
(a) Tamil Nadu (b) Karnataka (c) Kerala (d) Telangana

74. Surrogacy (Regulation) Act, 2021 is associated with which Ministry?
(a) Ministry of Home Affairs

(b) Ministry of Health and Family Welfare

(c) Ministry of Women & Child Development

(d) Ministry of External Affairs

75. What was the theme of the ‘World Food Safety Day 2022’ ?
(a) Prevent Food-borne risks (b) Safer Food, Better Health
(c) Manage Food-borne Infections (d) Safe Food to Children

76. As Ber the recent revision in Foreign Contribution (Regulation) Amendment Act (FCRA)
rules. What is the limit up to which Relatives living abroad can send money to Indians
(without informing the Government)?

(a) X 7 lakh b) X 10 lakh (c) X 15 lakh (d) X 50 lakh
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77. Which is being developed as the first elevated urban Expressway in India?
(a) Kochi Expressway (b) Dwarka Expressway
(c) Kolkata Expressway (d) Surat Expressway

78. Which was the first Hindi novel to win the 2022 Booker Prize ?
(a) Tomb of Sand (b) Khali Jagah
(c) Kashi Ka Assi (d) Hamara Shahar Us Baras

79. The Hydraulic press used to lift a car is based on the following principle :
(a) Pascal’s Principle (b) Magnus Effect
(c) Bernoulli’s Principle (d) Archimedes Principle

80. Discrimination on the ground of religion is prohibited by the Indian constitution under
(a) Article 9 (b) Article 10 (c) Article 12 (d) Article 15

81. After Independence, in which year were the Indian States reorganized on the linguistic
basis ?
(a) 1947 (b) 1951 (c) 1956 (d) 1961

82. Who said that India is an indestructible Union of destructible states ?
(a) Jawaharlal Nehru (b) Dr. B. R. Ambedkar
(c) B. N. Rau (d) Dr. Rajendra Prasad

83. Which Union Ministry implements the 'Saksham Anganwadi and Poshan 2.0’ scheme?
(a) Ministry of Health (b) Ministry of Women and Child Development
(c) Ministry of Agriculture and Farmers Welfare

(d) Ministry of Food Processing Industries

84. Ms. Droupadi Murmu is the President of India.
(a) 13t (b) 14t (c) 15t (d) 16t

85. ‘The Autobiography of an Unknown Indian’ is an autobiography of
(a) Inder Kumar Guijral (b) Nirad C. Chaudhuri
(c) Mahatma Gandhi (d) Jawaharlal Nehru

86. A number is multiplied by 11 and 11 is added to the product. If the resulting number is
divisible by 13, the smallest original number is:
(a) 12 (b) 22 (c) 26 (d) 53
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87. The HCF and LCM of two numbers are 12 and 336 respectively. If one of the numbers is
84, the other is:
(a) 36 (b) 48 (c) 72 (d) 96

88. Ten years ago, a man was seven times as old as his son. Two years hence, twice his age
will be equal to five times the age of his son. What is the present age (in years) of the son?
(@) 12 (b) 13 (c) 14 (d) 15

89. Aman's expense is 30% more than Vimal's and Vimal's expense is 10% less than Raman's.
If sum of their expenses is 6447, then what would be Aman's expense
(a) X1890 (b) 2100 (c) 2200 (d) X2457

90. Abhishek purchased 140 shirts and 250 trousers @ X450 and @ X550 respectively. When
should be the overall average selling price of shirts and trousers so that 40% profit is earned
(rounded off to next integer)?

(a) X700 (b)X 710 (c)X720 (d) X725

91. If the income of A is 10% more than that of B and the income of B is 20% less than that
of C, then the incomes of A, B and C respectively are in the ratio:
(a) 11:10:8 (b) 22:20:25 (c) 10:9:7 (c) 22:18:25

92. A started a business with 21000 and is joined afterwards by B with 36000. After how
many months did B join if the profits at the end of the year are divided equally ?
(a)3 (b) 4 (c)5 (d)6

93. Two pipes can fill a tank with water in 15 and 12 hours respectively and a third pipe can
empty it in 4 hours. If the pipes be opened in order at 8, 9 and 11 am respectively, the tank
will be emptied at what time in the afternoon:

(a) 12 : 40 (b) 1:40 (c)2:40 (d)3:40

94. A, B and C can complete a work separately in 24, 36 and 48 days respectively. They
started together but left the work after 4 days of start and A left 3 days before the
completion of the work. In how many days will the work be completed ?

(a) 15 (b) 22 (c) 25 (d) 35

95. The average speed of a bus is one-third of the speed of a train. The train covers 1125 km
in 15 hours. How much distance (in km) will the bus cover in 36 minutes?
(a) 12 (b) 15 (c) 21 (d) 75
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96. What will be the difference between the simple interest and compound interest accrued
on an amount of X19200 at the end of 3 years at 12% per annum?
(a) X722.6826 (b) X798.1824 (c) X802.5144 (d) X862.6176

97. The perimeter of a rectangular field is 480 meters and the ratio between the length and
the breadth is 5:3. The area (in m?) is:
(a) 1350 (b) 1550 (c) 13500 (d) 15500

98. How many bricks, each measuring 25 cm x 11.25 cm x 6 cm, will be needed to build a
wall8mx6mx225cm?
(a) 5600 (b) 6000 (c) 6400 (d) 7200

99. The minute arm of a clock is 10 cm long. The number of minutes taken by the tip of the
arm to travel a length of 10 cm is nearly equal to
(@) 5 (b) 10 (c) 15 (d) 20

100. How many shares of market value X 25 each can be purchased for 12750, the
brokerage being 2% ?
(a) 450 (b) 500 (c) 550 (d) 600
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ANSWER KEYS

Q.No. | Ans | Q.No. | Ans | Q.No. | Ans | Q.No. | Ans | Q.No. | Ans
1. D 21. C 41. C 61. B 81. C
2. C 22. C 42. A 62. C 82. B
3. D 23. D 43. B 63. A 83. B
4, * 24. C 44, C 64. D 84. C
5. A 25. A 45, C 65. C 85. B
6. B 26. A 46. A 66. C 86. A
7. C 27. D 47. A 67. B 87. B
8. * 28. A 48. D 68. B 88. C
9. * 29. B 49. C 69. C 89. D

10. D 30. B 50. B 70. D 90. C
11. C 31. D 51. A 71. B 91. B
12. A 32. C 52. C 72. B 92. C
13. B 33. A 53. A 73. B 93. C
14. A 34, A 54, C 74. B 94. A
15. C 35. B 55. B 75. B 95. B
16. C 36. C 56. A 76. B 96. D
17. B 37. C 57. C 77. B 97. C
18. D 38. C 58. C 78. A 98. C
19. D 39. C 59. C 79. A 99. B
20. C 40. A 60. D 80. D 100. B
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1. Answer the question based on following information.

I.'P X Q' means 'P is the brother of Q'.

II.'P + Q' means 'P is the father of Q.

II.'P / Q" means 'P is the sister of Q'.

Which of the following represents 'P is the uncle of Q'?

(a)p+D/Q (b)PxXD+Q (cgPp+DxQ (dP/D+Q

2. Ram went to his office, which is 9 kms towards the South from his hostel. His roommate
Meghal went to a clinic, which is 12 kms towards the West from the hostel. What is the
shortest distance between the clinic and Ram's office?

(a)12m (b) 12 kms (c) 15 kms (d) 15 m

3. In a certain language 'pic vic nic’ means 'winter is cold'; ‘to nic re’ means 'summer is hot';
're it pa' means 'nights are hot'. Which of the following is the code for 'summer'?
(a) to (b) nic (c) pic (d) vic

4. Six years ago, the ratio of the ages of Kunal and Sagar was 6:5. Four years hence, the ratio
of their ages will be 11:10. What is Sagar's age at present?
(a) 15 (b) 16 (c) 17 (d) 18

5. A wholesale tea dealer has 408 kilograms, 468 kilograms and 516 kilograms of three
different qualities of tea. He wants it all to be packed into boxes of equal size without

mixing. Find the capacity of the largest possible box.
(a) 50 (b) 36 (c) 24 (d)12

6. A simple mechanical device has four gears A, B, C and D such that they mesh in the order
A-B-C-D. The number of teeth in these gear is 10, 21, 12, 17 respectively. If we start the
mechanism from rest, how many revolutions will the largest gear have to turn before one
full cycle is completed and the gears are in the position from where they started?

(a) 270 (b) 340 (c) 7140 (d) 285

7. If the LCM of two numbers is 750 and their product is 18750. Find the HCF of the
numbers.
(a) 40 (b) 35 (c) 25 (d) 45

8. An amount of 2430 is divided among A, B and C such that if their shares be reduced by
Rs.5, Rs.10 and Rs.15 respectively, the remainders shall be in the ratio of 3:4:5. Then, B's
share was:

(a) 605 (b) 800 (c) 790 (d) 810
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9. From the time the front of a train enters a platform, it takes 25 seconds for the back of
the train to leave the platform, while travelling at a constant speed of 54 km/h. At the same
speed, it takes 14 seconds to pass a man running at 9 km/h in the same directions as the
train. What is the length of the train and that of the platform in meters, respectively

(a) 210 and 140 (b) 162.5 and 187.5 (c) 245 and 130 (d) 175 and 200

10. A contract is to be completed in 56 days and 104 men were set to work, each working 8
hours a day. After 30 days, 2/5 of the work is finished. How many additional men may be
employed so that work may be completed on time each man now working 9 hours per day?
(a) 46 men (b) 48 men (c) 52 men (d) 56 men

11. Which sport's competition is known as the "Korn Ferry Tour"?
(a) Golf (b) Baseball (c) Tennis (d) Chess

12. The term "Boycott of British Goods" was used in which of the following movements?
(a) Swadeshi Movement (b) Quit India Movement
(c) Non-Cooperative Movement (d) Home Rule Movement

13. Rani-ki-Vav (the Queen's Stepwell), which is in the UNESCO World Heritage List, is
located in which state?
(a) Gujarat (b) Madhya Pradesh (c) Rajasthan (d) Uttar Pradesh

14. Which gas is most effective for ozone depletion?
(a) cMC (b) CFC (c) CCF (d) cDC

15. In which year was "The National Commission for Women" set up?
(a) 1992 (b) 1990 (c) 2015 (d) 2012

16. Who was honoured for film and television achievements at the MTV Movie & TV Awards
20227
(a) Jennifer Lopez (b) Tom Cruise (c) Will Smith (d) Angelina Jolie

17. What is the repo rate after August, 2022 Monetary Policy Committee meeting?
(@) 5.0 % (b)5.2% (c)5.4% (d)5.75%

18. Which state government has partnered with Linked In to boost employability skills
of its students?
(a) Punjab (b) Haryana (c) Kerala (d) Tamil Nadu
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19. Who has written the book "New Dimensions of India’s Foreign Policy"?
(a) Raghuram Rajan (b) Amartaya Sen
(c) Atal Bihari Vajpayee (d) Amit Chaudhari

20. Which global organisation launched a new initiative called COVID-19 Technology Access
Pool (C-Tap)?

(a) World Health Organisation (b) World Trade Organisation

(c) UNICEF (d) World bank

21. ‘wfgeg 99 7 widgsg U ware © wag of J7?
(a) IS &5 ATT Hdl TII (b) »pHI & FEr dar-Adt
(c) WfSHST Tt Fer Yaret (d) SIS WEH'T &

22. TR g4t €9 diant gt nre3t It @A & of e 3572
(a) A&SI (b) HZ (c) HII-H3" (d) YHI"

23. Time Barred T WJH -
(a) HWI3S AHT (b) FIH3 AHT (c) firme Yatt (d) i3t =g

24, I ffmi iS5 Tu mee g2l
(a) SI3 (b) A= (c) IS (d) F

25. Any @A § T Udct 3 83 famir T feg i’ & Yargd I
(a) fo 1 =9 Uga'= (b) YIH I UYFo'e
(c) FET=TS UFS (d) fomD Tox uga=

26. Change into indirect speech. She said, "Could you bring my book tonight?"
(a) She asked me could | bring her book that night.

(b) She asked me to bring her book that night.

(c) She had asked me to bring her book that night.

(d) She asked me to bring her book tonight.

27. Playing the piano may seem very difficult at first, but it gets easier with practice. Replace
the italicized word with the correct substitute:
(a) manageable (b) sparse (c) arduous (d) ominous
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28. Choose the correct phrasal or prepositional verb for ‘to enter by force":
(a) break into (b) break away (c) break down (d) break out

29. Choose one word substitute for an action that is likely to make people very angry.
(a) inflationary (b) inflammable (c) Commensurable (d) Inflammatory

30. Many older people feel a slight pang of ... as they think back on their schools days.
(a) anger (b) tears (c) Pride (d) nostalgia
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1. B 7. C 13. A 19. C 25. A
2. C 8. D 14. B 20. A 26. B
3. A 9. D 15. A 21. D 27. C
4. B 10. D 16. A 22. C 28. A
5. D 11. A 17. C 23. C 29. D
6. * 12. A 18. C 24. C 30. D
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1. 7o AEe-AF faaz I
(a) IS (b) IS (c) IS (d) IS

2. s HeE feg fug3g 3
(a) ey (b) Shr (c) 8 (d)

3. 35 fBfmit fod UTgETOd/THIT TS &' I

(a) SH (b) HET (c) I (d) TSt

4. friA ffanr & 3937 oK & Wil & 33 A4l fIR g1 98 9=, 89 faadt fafanr 3t 3
(a) WerIHS fafnr (b) Jo&IEd fafanr

(c) AeIHS fIfanr (d) Agar3 fafomr

5. WiIISH AT ‘SBE T UAE AHEIEd AST fag3T I?
(a) 3T Tt He (b) YyAf3ar (c) goo' 93 (d) fHAS

6. Note: Give the right option for each of the following
"To be in the running" means
(a) to be escaping from the law

(b) to be in a good position to achieve something
(c) to be included in an athletics team

(d) to be in a very difficult situation

7. The correct synonym for "fiendish" would be

(a) comical (b) friendly (c) savage (d) supportive
8. We are trying to make sure that the work is shared equally.
(a) in (b) off (c) out (d) with

9. The meaning of the word "placid" is
(a) local (b) distant (c) angry (d) calm

10. You should praise her only when she deserves it. Which part of speech is the word
"only" in this sentence?
(a) adjective (b) adverb (c) preposition (d) conjunction
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11. Complete the series: 4, 23, 60, 121,
(a) 200 (b) 212 (c) 216 (d) 210

12. What comes next in the series: 165, 195, 255, 285, 345, ?
(a) 335 (b) 225 (c) 525 (d) 435

13. In a certain code, GATHER is written as EGRICT, how is PAROLE written in that code?
(a) NCQPG!J (b) NCPQJG (c) JGPQNC (d) JGQPCN

14. In a certain code language, SWIFT is written as RUFBO. How would MMXQG be written
in that code?
(a) LKUMB (b) LBUMK (c) MLVNC (d) KITLA

15. One day, Raman left home and cycled 10 km southwards, turned right and cycled 5 km.
Next, he turned right and cycled 10 km. He then turned left and cycled 10 km. How many
kms will he have to cycle to reach his home straight ?

(a) 15 km (c) 10 km (b) 15 km (d) 35 km

16. W and X are brothers. Y and Z are sisters. W's son is Z's brother. How is X related to Y ?
(a) Father (b) Brother (c) Uncle (d) Grandfather

17. Motorcycle is related to Battery in the same way as Life is related to
(a) Moon (b) Man (c) Sun (d) Earth

18. Choose the word which is least like the other words in the group
(a) Cap (b) Turban (c) Helmet (d) Veil

19.T, U, V, W, X, Y and Z are siting around a circle and are facing the centre. Z is second to
the let of V, who is to the immediate left of Y. T is third to the left of X. U is between W and
X. Which of the following is the position of Y ?

(a) Fourth to the right of W (b) To the immediate right of T

(c) To the immediate left of V (d) Between T and V

20. In a certain code language, ‘617" means 'sweet and cold'. ‘735’ means ‘Lassi is sweet'
and ‘263’ means 'coffee is cold'. Which of the following would mean "lassi is cold"?
(@) 713 (b) 536 (c) 753 (d) 673

21. Durgabai Deshmukh was associated with which of the following?
(a) Maharashtra Mahila Sabha (b) Andhra Mahila Sabha
(c) Bihar Mahila Sabha (d) Kerala Mahila Sabha
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22. Which famous female nationalist leader was part of the Dandi March by Mahatma
Gandhi ?
(a) Sucheta Kriplani  (b) Sarojini Naidu (c) Indira Gandhi (d) Kasturba Gandhi

23. Who was the president of the famous Gaya Session of Congress held in 1922 ?
(a) Jawaharlal Nehru (b) Rajendra Prasad (c) Motilal Nehru (d) Chitranjan Das

24. What was famously called the "Poor man's Struggle" by Mahatma Gandhi ?
(a) Dandi March (b) Non Cooperation Movement
(c) Civil Disobedience Movement (d) Round Table Conference

25. Who among the following was the first Muslim president of INC ?
(a) Mohammad Ali Jinnah (b) Saifuddin Kichlew
(c) Badruddin Tyabji (d) Aga Khan

26. Which of the following trophies is not related to Cricket in India?
(a) Deodhar Trophy (b) Irani Cup
(c) Ranji Trophy (d) Santosh Trophy

27. The Super Seven medals had been won by India at the Tokyo Olympics in which order:
(a) 2 Gold 2 Silver 3 Bronze (b) 1 Gold 2 silver 4 bronze
(c) 3 gold 2 silver 2 bronze (d) 1 gold 3 silver 3 bronze

28. The highest number of medals were won by which country at the Commonwealth
Games 2022 ?
(a) India (b) China (c) Australia (d) USA

29. Who among the following is not associated with football in India?
(a) Manisha Kalyan  (b) Sanju Yadav (c) Bala Devi (d) Smriti Mandhana

30. The term Putting is associated with which game?
(a) Hockey (b) Football (c) Chess (d) Golf

31. Which of the following is used in EBCDIC?
(a) Super Computers (b) Main Frames

(c) Machine Codes (d) Programming

32. Which of the following defines the assigned ordering among the characters used by the

Computer ?
(a) Accumilation (b) Sorting
(c) Collating Sequence (d) Unicode
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33. What is the port number of PoP ?
(a) 35 (b) 43 (c) 110 (d) 85

34. Which of the following layer isn't present in the TCP/IP model but is included in the OSI
model ?
(a) Network Layer (b) Session Layer (c) Application Layer (d) Transport Layer

35. Which of the following is known as a set of entities of the same type that share same
Properties or attributes ?

(a) Relation set (b) Tuples (c) Entity set (d) Entity Relation model
36. is a set of one or more attributes taken collectively to uniquely identify a
record.

(a) Primary key (b) Foreign key (c) Super key (d) Candidate key

37. Which of the following is not an loT platform?
(a) Amazon Web Services (b) Microsoft Azure
(c) Salesforce (d) Flipkart

38. Which of the following protocol is used to link all the devices in the loT?
(a) HTTP (b) UDP (c) Network (d) TCP/IP

39. Which of the below is not a part of the Test Plan?

(a) Schedule (b) Risk (c) Incident Report  (d) Entry & Exit Criteria
40. The basic web services platform is a combination of and
(a) CSS + HTTP (b) XML + HTML (c) XML + HTTP (d) CSS + JAVA

41. Which of the following is not a type of database?
(a) Hierarchical (b) Network (c) Distributed (d) Decentralized

42. Which of the following is generally used for performing tasks like creating the structure
of the relations, deleting relation ?

(a) DML (Data Manipulation Language) (b) Query

(c) Relational Schema (d) DDL(Data Definition Language)

43. The values appearing in given attributes of any tuple in the referencing relation must
likewise occur in specified attributes of at least one tuple in the referenced relation,
according to integrity constraint.

(a) Referential (b) Primary (c) Referencing (d) Specific
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44, Which command is used to remove a relation from an SQL ?
(a) Drop table (b) delete (c) Purge (d) Remove

45. What is the function of the following command ?

Delete from r where P

(a) Clears entries from relation (b) Deletes relation
(c) Deletes particular tuple from relation ~ (d) All of the above

46. A major goal of the database system is to minimize the number of block transfers
between the disk and memory, Which of the following helps in achieving this goal ?
(a) Secondary storage (b) Storage

(c) Catalog (d) Buffer

47. In the following Query, which of the following can be placed in the Query's blank portion
to display the salary from highest to lowest amount, and sorting the employees name
alphabetically?

SELECT *

FROM instructor

ORDER BY salary , hame ;

(a) Ascending, Descending (b) Asc, Desc

(c) Desc, Asc (d) All of the above

48. Which of the following refers to the number of tuples in a relation ?
(a) Entity (b) Column (c) Cardinality (d) None of the above

49. Consider a relation R(A, B, C, D, E) with the following functional dependencies:
ABC -> DE

D-> AB
The number of super keys of R is
(@) 2 (b) 7 (c) 10 (d)12

50. The property of a transaction that persists all the crashes is
(a) Atomicity (b) Durability (c) Isolation (d) All of the above

51. Which of the following protocols ensures conflict serializability and safety from
deadlocks ?

(a) Two-phase locking protocol (b) Time-stamp ordering protocol

(c) Graph based protocol (d) None of the above
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52. The length of an IPv6 address is
(a) 32 bits (b) 64 bits (c) 128 bits (d) 256 bits

53. Which of the following IP address belongs class A ?
(@) 121.12.12.248 (b) 130.12.12.248 (c) 128.12.12.248 (d) 129.12.12.248

54. Which of the following IP addresses can be used as loop-back addresses?
(a) 0.0.0.0 (b) 127.0.0.1 (c) 255.255.255.255 (d) 0.255.255.255

55. The correct order of corresponding OSI layers for having functionalities of routing and
reconciling machine representation differences with shared access resolution and ASCII test
protocol is ?

(a) Network, Physical, Transport, Data

(b) Network, Physical, Data link, Application

(c) Network, Presentation, Data link, Application

(d) Network, Presentation, Physical, Transport

56. Which of the following tasks is not done by the data link layer?
(a) framing (b) error control (c) flow control (d) channel coding

57. Which of the following is the multiple access protocol for channel access control?
(a) CSMA/CD (b) CSMA/CA
(c) Both CSMA/CD & CSMA/CA (d) HDLC

58. The technique of temporarily delaying outgoing acknowledgements so that they can be
hooked onto the next outgoing data frame is called

(a) piggybacking (b) cyclic redundancy check

(c) fletcher's checksum (d) parity check

59. ICMP is primarily used for

(a) error and diagnostic functions
(b) addressing

(c) forwarding

(d) routing

60. User diagram protocol is called connectionless because

(a) all UDP packets are treated independently by transport layer
(b) it sends data as a stream of related packets

(c) it is received in the same order as sent

(d) it sends data very quickly
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61. Which of the following delay is faced by the packet in travelling from one end system to
another ?

(a) Propagation delay (b) Queuing delay

(c) Transmission delay (d) All of the above

62. The default connection type used by HTTP is

(a) Persistent

(b) non-Persistent

(c) Can be either persistent or non-persistent depending on connection
(d) None of the mentioned

63. To access the services of the operating system, the interface is provided by the

(a) Library (b) System calls

(c) Assembly instructions (d) API

64. Which one of the following is not true?

(a) kernel remains in the memory during the entire computer session

(b) kernel is made of various modules which can not be loaded in running operating system
(c) kernel is the first part of the operating system to load into memory during booting

(d) kernel is the program that constitutes the central core of the operating system

65. In a timeshare operating System, when time slot assigned to a process is completed, the
process switches from the current state to ?

(a) Suspended state (b) Run state

(c) Ready state (d) Terminate state

66. For an effective operating system, when to check for deadlock ?
(a) every time a resource request is made at fixed time intervals

(b) at fixed time intervals

(c) every time a resource request is made

(d) none of the above

67. The operating system maintains a table that keeps track of how many frames
have been allocated, how many are there, and how many are available.
(a) memory (b) mapping (c) page (d) frame

68. On systems where there are multiple operating System, the decision to load a particular
one is done by

(a) process control block (b) file control block

(c) boot loader (d) bootstrap
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69. In Unix, which system call creates the new process?
(a) Create (b) fork
(c) new (d) none of the mentioned

70. The interval from the time of submission of a process to the time of completion is
termed as

(a) waiting time (b) turnaround time

(c) response time (d) throughput

71. Which scheduling algorithm is defined in Time quantum ?
(a) shortest job scheduling algorithm (b) round robin scheduling algorithm
(c) priority scheduling algorithm (d) multilevel queue scheduling algorithm

72. Banker's algorithm is used ?
(a) To prevent deadlock (b) To deadlock recovery

(c) To solve the deadlock (d) None of these

73. The time taken to move the disk arm to desired cylinder is called the

(a) positioning time (b) random access time
(c) seek time (d) rotational latency
74. In the algorithm, the disk arm starts at one end of the disk and moves toward

the other end, servicing requests till the other end of the disk. At the other end, the
direction is reversed and servicing continues.
(a) LOOK (b) SCAN (c) C-SCAN (d) C-LOOK

75. Which one of the following is not a secondary storage?
(a) Magnetic disks (b) Magnetic tapes
(c) RAM (d) None of the mentioned

76. RAID level | refers to

(a) disk arrays with striping (b) disk mirroring
(c) both disk arrays with striping and disk mirroring

(d) None of the mentioned

77. Which of the following commands is used to save any transaction permanently into the
database ?
(a) commit (b) Rollback (c) Savepoint (d) None of the above
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78. Which one of the following statements about normal forms is FALSE ?

(a) BCNF is stricter than 3 NF

(b) Lossless, dependency preserving decomposition into 3 NF is always possible
(c) Loos less, dependency preserving decomposition into BCNF is always possible
(d) Any relation with two attributes is BCNF

79. What address identifies a process on a host ?
(a) Physical address (MAC) (b) Logical address (IP)
(c) Port address (d) Specific address

80. Decryption and Encryption of data are the responsibility of which of the following layer?
(a) Session layer (b) Network layer (c) Transport layer  (d) Presentation layer

81. How many bits are needed to store one BCD digit ?

(a) 2 bits (b) 4 bits (c) 3 bits (d) 1 bit
82. Which of these sets of logic gates are known as universal gates?

(a) XOR, NAND, OR (b) OR, NOT, XOR

(c) NOR, NAND, XNOR (d) NOR, NAND

83. In the toggle mode, a JK flip-flop has
(@)J=0,K=1 (b)J=1,K=1 (c)J=0,K=0 (d)J=1,K=0

84. 2's complement of 1011011 is
(a) 0100011 (b) 0110101 (c) 0100011 (d) 0100101

85. A digital circuit that can store only one bit is a
(a) Register (b) NOR gate (c) Flip-flop (d) XOR gate

86. DeMorgan’s Law state that
(a) (A+B)’=A"*B  (b) (AB)=A"+B"  (c)(AB) =A"+B (d) (AB) =A+B

87. The Minterms for four variables
(a) 8 (b) 16 (c) 2 (d) 1

88. The result "X + XY = X" follows which of these laws ?
(a) Consensus law (b) Distributive law  (c) Duality law (d) Absorption law

89. The largest two digits hexadecimal number is
(a) (FE)is (b) (FD)16 (c) (FF)1s (d) (EF)16

Job Alerts | Previous Year Question Paper | Online MCQs



https://indiaexamjunction.com/
https://indiaexamjunction.com/government-jobs
https://indiaexamjunction.com/government-jobs?blog_cat=Punjab%20Question%20Paper%20Bank
https://indiaexamjunction.com/online-quiz

Page3 2

== com
JOB ALERTS | PREVIOUS YEAR QUESTION PAPERS | TEST SERIES

INDIA EXAM

JUNCTION ® © +916239822773 | Followus on: (P S QO ®

90. The prime implicant which has at least one element that is not present in any other
implicant is known as

(a) Essential Prime Implicant (b) Implicant

(c) Complement (d) Prime Complement

91. Which one of the following is not the application of the stack data structure ?
(a) String reversal (b) Recursion
(c) Backtracking (d) Asynchronous data transfer

92. Which data structure is required to convert the infix to prefix notation?
(a) Stack (b) Linked List (c) Binary Tree (d) Queue

93. Which of the following is the prefix form of A+B*C ?
(a) A+(BC*) (b) +AB*C (c) ABC+* (d) +A*BC

94. If the elements '1’, ‘2, ‘3’ and ‘4' are added in a stack, what would be the order for the
removal?
(a) 1234 (b) 2134 (c) 4321 (d) None of above

95. Which one of the following is the overflow condition if the linear queue is implemented
using an array with a size MAX_SIZE ?

(a) rear = front (b) rear = front + 1

(c) rear = MAX_SIZE -1 (d) rear = MAX_SIZE

96. The time complexity of enqueue operation in Queue is
(a) O(1) (b) O(n) (c) O(logn) (d) O(nlogn)

97. Which of the following properties are obeyed by all three tree —traversals ?
(a) Left subtrees are visited before right subtrees

(b) Right subtrees are visited before left subtrees

(c) Root node is visited before left subtree

(d) Root node is visited before right subtree

98. The number of elements in the adjacency matrix of a graph having 7 vertices is
(@) 7 (b) 14 (c) 36 (d) 49

99. In a max-heap. the clement with the greatest key is always in the which node?
(a) Leaf node (b) First node of left sub tree
(c) Root node (d) First node of right sub tree
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100. Which of the following is false about a binary search tree?
(a) The left child is always lesser than its parent

(b) The right child is always greater than its parent

(c) The left and right sub trees should also be binary search trees
(d) In order sequence gives decreasing order of elements

101. Which of the following service allows a user to log in to another computer somewhere
on the internet ?
(a) e-mail (b) UseNet (c) Telnet (d) FTP

102. Which of the following is the smallest unit of data in a computer ?
(a) Bit (b) KB (c) Nibble (d) Byte

103. The ‘heart' of the processor which performs many different operations
(a) Arithmetic and Logic unit (b) Motherboard
(c) Control Unit (d) Memory

104. Which one of the following groups contains graphical file extensions?
(a) JPG, CPX, GCM  (b) GIF, TCE, WMF  (c) TCP, JPG, BMP  (d) JPG, GIF, BMP

105. Which of the following values is the correct value of this hexadecimal code ABCDEF ?
(a) 11259375 (b) 11259379 (c) 11259312 (d) 11257593

106. The speed of a modern printer is generally measured in
(a) LPS (b) MMS (c) PPS (d) DPI

107. In which of the following computer-generation vacuum tubes were used?
(a) First generation (b) Second generation
(c) Third generation (d) Fourth generation

108. Which of the following address is generated by CPU ?
(a) Logical address (b) Physical address
(c) Actual address (d) Simple address

109. What is the output of this statement "printf("%d”, (a++))” ?
(a) The value of (a+1) (b) The current value of a
(c) Error message (d) Garbage

110. Which is a valid C expression ?
(a) int my_num = 100,000; (b) int my_num = 100000;
(c) int my num = 1000; (d) int Smy_num = 10000;
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111. What is #include <stdio.h>?
(a) Preprocessor directive (b) Inclusive directive
(c) File inclusion directive (d) None of the mentioned

112. What will be the output of the following C code?

1. #include <stdio.h>

2. int main()

3. {

4. int y = 10000;

5. Inty =34,

6. printf(“Hello World! %d\n”, y);

7. return 0;

8. }

(a) Compile time error (b) Hello World! 34

(c) Hello World! 1000 (d) Hello World! Followed by a junk value

113. What is the final value of x in the following C code ?

1 #include <stdio.h>

2 void main()

3. {

4. intx=5*9/3+09;

5. }

(a) 3.75 (b) Depends on compiler
(c) 24 (d)3

114. What will be the output of the following C code?

1 #include <stdio.h>

2 void main()

3. {

4, double k =0;

5 for (k = 0.0; k<3.0; k++)

6. printf(“Hello”);

7. }

(a) Run time error (b) Hello is printed thrice
(c) Hello is printed twice (d) Hello is printed infinitely

115. Which one of the following is a loop construct that will always be executed once?
(a) for (b) while (c) switch (d) do while
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116. What is the correct syntax of doctype in HTML5 ?
(a) </doctype html> (b) <doctype html> (c) <doctype html!> (d) <!doctype html>

117. Which of the following tag is used for inserting the largest heading in HTML?

(a) head (b) <h1> (c) <h6> (d) heading
118. Which HTML tag is used to insert an image ?

(a) <img url = “htmllogo.jpg” /> (b) <img alt = “htmllogo. jpg” />
(c) <img src = “htmllogo. jpg” /> (d) <img link = “htmllogo. jpg” />

119. Which of the following tag is used to make the underlined text?
(a) <i> (b) <ul> (c) <u> (d) <pre>

120. Which data structure is the best for implementing a priority queue?
(a) Stack (b) Linked list (c) Array (d) Heap
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Q.No. | Ans | Q.No. | Ans | Q.No. | Ans | Q.No. | Ans | Q.No. | Ans
1. D 25. C 49, C 73. C 97. A
2. C 26. D 50. B 74. B 98. D
3. A 27. B 51. B 75. C 99. C
4. B 28. C 52. C 76. C 100. D
5. D 29. D 53. A 77. A 101. C
6. B 30. D 54, B 78. C 102. A
7. C 31. B 55. C 79. C 103. A
8. C 32. C 56. D 80. D 104. D
9. D 33. C 57. C 81. B 105. A

10. B 34. B 58. A 82. D 106. C
11. B 35. C 59. A 83. B 107. A
12. D 36. C 60. A 84. D 108. A
13. B 37. D 61. D 85. C 109. B
14. A 38. D 62. A 86. B 110. B
15. A 39. C 63. B 87. B 111. A
16. C 40. C 64. B 88. D 112. A
17. C 41. D 65. C 89. C 113. C
18. D 42. D 66. A 90. A 114. B
19. A 43. A 67. D 91. D 115. D
20. B 44, A 68. C 92. A 116. D
21. B 45. C 69. B 93. D 117. B
22. B 46. D 70. B 94. C 118. C
23. D 47. C 71. B 95. C 119. C
24. C 48. C 72. A 96. A 120. D
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1. Which Act led to Jallianwala Bagh Massacre in Amritsar ?
(a) Defence of India (b) Rowlatt Act
(c) Hindu Inheritance Act (d) Indian Press Act

2. Find the greatest number which can divide 284, 698 and 1618 leaving the same
remainder 8 in each case.

(a) 23 (b) 46 (c) 25 (d) 29
3. Ludhiana is located in region of Punjab.
(a) Majha (b) Malwa (c) Puadh (d) Doaba

4. Question given below is based on the letter series. In this series, some letters are missing.
Select the correct alternative. If more than five letters are missing, select the last five letters
of the series :

ab__tta_ xy_ __b__

(a) xyabt (b) xybat (c) xytab (d) xtaby

5.1f +is X, -is +, X is = and =+ is -, then answer the following questions based on this
information.

9+5+4-3x2="

(@) 2.5 (b)-9.5 (c)-3.25 (d) 8.5

6. Which company has opened its 5G Innovation Lab in India ?
(a) Moderna (b) Ericson (c) GE healthcare (d) Nokia

7. What is the name of the city in India in which first Electronic Double Decker AC bus has
been launched ?
(a) Delhi (b) Mumbai (c) Puducherry (d) Pune

8. In the following question, three out of the four alternatives are same in a certain way and
so form a group. Find the odd one that does not belong to the group.
(a) Conscience (b) Morality (c) Conduct (d) Weight

9. In the following question, three out of the four alternatives are same in a certain way and
so form a group. Find the odd one that does not belong to the group.
(a) Mars (b) Jupiter (c) Sun (d) Saturn

10. Who sat on the throne of Lahore Durbar after the death of Maharaja Ranjit Singh?
(a) Lal Singh Dogra  (b) Kharak Singh (c) Dalip Singh (d) Kashmira Singh
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11. To a sugar solution of 3 litres containing 40% sugar, one litre of water is added. The
percentage of sugar in the new solution is
(a) 13.3% (b) 15% (c) 30% (d) 33%

12. Where is the headquarter of Biodiversity International ?
(a) Sweden (b) Finland (c) Italy (d) France

13. In a code language, if POSE is coded as OQNPRTDF, then TYPE will be coded as
(a) SUXZOQFD (b) SUXZQOFD (c) SUXZOQDF (d) SUXZQODE

14. If a commission of 20% is given on retail price, the profit is 60%. Find the profit
percentage when the commission is increased by 5% of the retail price:
(a) 40% (b) 50% (c) 75% (d) 80%

15. Lakshman went 15 km to the west from his house, then turned left and walked 20 km.
He then turned East and walked 25 km and finally turning left covered 20 km. How far is he
now from his house ?

(a) 10 km (b) 15 km (c) 20 km (d) 25 km

16. In the following question, one number is wrong in the series. Find out the wrong
number.

701, 348,173, 85,41, 19, 8

(a) 173 (b) 41 (c) 348 (d) 19

17. Which among the following was NOT authored by Khushwant Singh ?
(a) Train to Pakistan (b) Delhi : A Novel
(c) The Sunset Cliub (d) The Shadow Lines

18. Who started non-cooperation movement during British India?
(a) Mahatma Gandhi (b) Subhash Chandra Bose
(c) Lala Lajpat Rai (d) Sardar Vallabhbhai Patel

19. Who is the first Indian to score a century in Indian Premier League ?
(a) Rohit Sharma (b) Sachin Tendulkar (c) Virat Kohli (d) Manish Pandey

20. At National Film Awards 2022, the best actor award was shared by actors Suriya and
(a) Mahesh Babu (b) Allu Arjun (c) Rajnikanth (d) Ajay Deygan
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21. Change the following sentence from Direct speech to Indirect speech
The judge said, "Hang the criminal".

(a) The judge asked to hang the criminal.

(b) The judge ordered the criminal to be hanged.

(c) The judge ordered to hang the criminal.

(d) The judge advised to hang the criminal.

22. Complete the sentences using most appropriate options given below:

The movie star always arrived at public with an .
(a) Actions; emissary (b) Functions; enclave
(c) Events; entourage (d) Agencies; interview

23. Fill in the blank with the best option :
The pupils the problems before the teacher arrived.
(a) have solved (b) solved (c) had solved (d) were solving

24. Give an appropriate one-word substitute for the following:
To favour one's own relatives
(a) Nepotism (b) Anachronism (c) Pugnacity (d) Referendum

25. Fill in the blank with appropriate tense.
I this fragrance very much.
(a) am liking (b) like (c) have liked (d) likes

26. UFa< &t famH & Je I&7?
(a) 1 (b) 2 (c)6 (d)4

27. &2 w3 fafanr @ wiyrdt Adgh § &f faar Ater 32
(a) I IS (b) fSfanr feRms (c) 5T Tl (d) fafar el

28. IH3I'g HeT feod fua3g & gt a3l
(a) I (b) T (c) g (d) g

29 &2 & 8 233 HET He HET I A A4 YRS Ufenr AR 37 89 faaz ugae qarger I?
(a) YH6-T0d UF&'< (b) fora-Tgd U&=
(c) WicHI-T0d UFa'e (d) foA-s0a Uga<

30. 9B &H I8 T & TF I B &9 far &5 Agfas I?
(a) ferme (b) I IS (c) nETE (d) fafamr
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1. Who among the following revolutionaries was hanged on the charge of Kakori Conspiracy
by British Government ?

(a) Ramprasad Bismil (b) Khudiram Bose

(c) Sukhdev Thapar (d) Jatindranath Mukherjee (Bagha Jatin)

2. When was start-up India started ?
(a) 2019 (b) 2020 (c) 2016 (d) 2017

3. One number is wrong in the following series. Find out the wrong number :
3,5,12,39, 154,772, 4634
(@) 5 (b) 3 (c) 39 (d) 154

4. Ankit started walking towards North. After walking 30 metres, he turned towards left and
walked 40 metres. He then turned left and walked 30 metres. He again turned left and
walked 50 metres, How far is he from his original position ?

(a)40 m (b) 30 m (c) 20 m (d)10m

5. The HCF of 9/10, 12/25, 18/35 and 21/40 is
(a) 3/5 (b) 252/5 (c) 3/2800 (d) 52/140

6. The price of sugar increase by 20%. By what per cent must a housewife reduce the
consumption of sugar, so that the expenditure on sugar is the same as before ?
(a) 50/3 (b) 20 (c) 80 (d) 260/3

7. Choose the option which contains a pair of words related to each other in the same way
as the pair given in capital letters.

ISLAND : OCEAN : :

(a) Hill : Steam (b) Forest : Valley (c) Tree : Field (d) Oasis : Desert

8. Question given below is based on the letter series. In this series, some letters are missing.

Select the correct alternative. If more than five letters are missing, select the last five letter
the series :

XY_Z_XXYX_PX_YXZPX_yXzZpX

(a) xpzxx (b) yxyzx (c) yxzpx (d) zyxpy

9. Akash said to Mohit, “That boy shirt is younger of the two brothers of the daughter of my
father’s wife”. How is the boy in blue shirt related to Akash ?
(a) Father (b) Uncle (c) Brother (d) Data inadequate

10. Usain Bolt is associated with which game ?
(a) Athletics (b) Cricket (c) Football (d) Basketball
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11. If PORTER is written as QNSSFQ, then BRIGHT would be coded as :

(a) CQJFIS (b) CNJHIS (c) CQIFGS (d) CNJHIU
12. Find out the missing number.

14| 28 | 42

2 | 4 6

36 | 112 | 246

18| 56 | ?
(a) 120 (b) 201 (c) 123 (d) 303

13. Which city has been nominated as the first-ever SCO Tourism and Cultural Capital during
the period 2022-23 at its recently held SCO summit in Uzbekistan ?
(a) Varanasi (b) Samarkand (c) Dushanbe (d) Saint Petersburg

14. How many states in India have biomenal legislature ?
(a) Four (b) Six (c) Five (d) Eight

15. Calculate a single discount equivalent to a series discount of 20%, 10% and 5%.
(a) 35% (b) 68.4% (c) 31.6% (d) 65%

16. The National Air Quality Index (AQl) measures which of the following pollutants ?
I. Mercury II. Lead lll. Ozone IV. Carbon dioxide
@1, &IV (b) 11 & Il () I, 11 & IV (d) 1, 11, 111 & IV

17. Which of the following is not a folk dance of females in Punjab ?
(a) Bhangra (b) Giddha (c) Kikli (d) Sammi

18. What is the name of the female-looking spacefaring humanoid Robot developed by ISR
20207
(a) Manav (b) Vyommitra (c) Mitra (d) Kempa

19. What are Gilt-Edged Securities ?
(a) Government Securities (b) Mutual Funds
(c) Debentures (d) Post Office Deposits

20. Who was the first Indian to win the Brooker Prize ?
(a) Salman Rushdie  (b) Kiran Desai (c) Arundhati Roy (d) Aravind Adiga

21. Choose the correct sentence :
(a) Please attend of what | say. (b) Please attend to what | say.
(c) please attend for what | say. (d) Please attend with what | say.
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22. Identify the Passive voice of the following sentence :

| know her.
(a) She is known to me. (b) She is known by me.
(c) She will be known by me. (d) She is being known to me.

23. Choose the word nearest in meaning to bold part :
The early monsoon has brought respite of the people.
(a) despite (b) inspite of (c) interval of relief  (d) rest

24. Choose the correct spelling :
(a) Leftenant (b) Liftinanat (c) Lieutenant (d) Lietnanat

25. Mark the part which contains error :
(1) 1 will order/ (I1) for/ (111) the book at once/ (IV) No error

(a) (1) (b) (11) (c) (1) (d) (Iv)
26. Hipt & vy & 379" HI'=J © 3 Wi & g€ a9

(a) HM 578 BIF& T (b) Hflmr T fimyrgr S

(c) Hfimr @ I & fiaaral (d) Hmr & fimig 96 =5

27. wigg, &S 3 fadt Jarsh fowrage © fan wan s a8 AS3 Ia|
(a) BIMHT (b) STt (c) STHE3T (d) g&t

28. I ffumr iS58 T mee g
(a) &f3a37 (b) &f33T (c) &f3a3T (d) &3T3T

29. fagz fafonr < fenm3™ g9 fImirs daee-
(a) fafamr (b) ferme (c) - UFSE (d) fafomr ferme

30. WIS T ANTG'IE HET &dt I
(a) ey (b) AHS (c) fonrer (d)H3
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1. In which year the word "Secularism" was added into the Indian Constitution?
(a) 1976 (b) 1978 (c) 1975 (d) 1961

2. The LCM of 5, 8, 12, 20 will not be a multiple of
(a)3 (b)9 (c) 8 (d)5

3. Who is the second Sikh Guru?
(a) Guru Angad (b) Guru Amar Das  (c) Guru Arjan (d) Guru Har Rai

4. A train 100 m long takes 9 s to cross a man walking at 5 km/h in the direction opposite to
that of the train. Find the speed of the train.
(a) 40 km/h (b) 30 km/h (c) 45 km/h (d) 35 km/h

5. A cricketer has a certain average of 9 innings. In the tenth inning, he scores 100 runs,
thereby increasing his average by 8 runs. Calculate his new average.

(a) 28 (b) 25 (c) 30 (d) 35

6. national park is home to Asiatic Black Bear, Show Leopard, Brown Bear and
Blue Sheep.

(a) Nanda Devi and Valley of Flowers (b) Inderkilla

(c) Keoladeo (d) Van Vihar National Park

7. Which is the highest award in Literature in India ?
(a) Jnanpith Award (b) Sahitya Akademi Award
(c) Moortidevi Award (d) Saraswati Samman

8. MUDRA Bank is a subsidiary of
(a) SBI (b) SIDBI (c) ICICI (d) IDBI

9.If x:y=2:3, find the value of (3x + 2y) : (2x + 5y).
(a) 12/25 (b) 11/27 (c) 12/19 (d) 11/23

10. Choose the option which contains a pair of words related to each other in the same way
as the pair given in capital letters :

HANDCUFFS : PRISONER::

(a) Shoes: Feet (b) Leash: Dog (c) Tail: Kite (d Ring: Finger

11. In a certain, BOY is written as $*% and HOUR is written as @ *#0. How is Ruby written in
that code ?
(a) OS#% (b) 0#5% (c) %S#O (d) %#S0
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12. The sum of the ages of a mother and her daughter is 50 yrs. Also 5 years ago, the
mother’s age was 7 times the age of the daughter. What is the present age of the daughter?
(a) 14 years (b) 12 years (c) 10 years (d) 8 years

13. How many times are the hand of a clock at right angles in a day ?
(a) 24 (b) 48 (c) 22 (d) 44

14. The president can expend out of the Contingency Fund of India :
(a) Only with the approval of the Parliament

(b) Without the approval of the Parliament

(c) Only in case of the national calamities

(d) None of the above

15. On a certain sum of money, the simple interest for 2 year is Rs. 50 at the rate of 5% per
annum. Find the difference in Compound Interest and Simple Interest.
(a)Rs. 1 (b) Rs. 1.25 (c)Rs. 2.5 (d) Rs. 2.75

16. India's first human space flight mission ‘Gaganyaan' is expected to be launched in the
year
(a) 2023 (b) 2024 (c) 2025 (d) 2022

17. Where will next Olympic Games (2024) be held ?
(a) Paris (France) (b) Bordeaux (France) (c) Madrid (Spain) (d) Osaka (Japan)

18. How many times are the hand of a clock at right angles in a day ?
(a) 24 (b) 48 (c) 22 (d) 44

19. If +is X, - is +, X is =+ and = is -, then answer the following questions based on the
information.

21 +-8+2-12x%x3="?

(a) 14 (b) 9 (c) 13.5 (d) 11

20. What is the name of 100 day reading campaign launched by the Union Ministry of
Education on January 1, 2022 ?

(a) Uday Bharat (b) Padhe Bharat

(c) Padhega Bharat (d) Padhta-Badhta Bharat

21. Indicate the correct Verb.
English all over the world.
(a) speaks (b) is spoken (c) is speaking (d) spoke
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22. Choose the appropriate option to fill in the blank.
She her daughter to school before she goes to work.
(a) takes (b) taking (c) has taken (d) took

23. Which is the correct meaning of the idiom ‘to bell the cat’?
(a) to take lead in danger (b) to tie bell to cat's neck
(c) to be alert of the enemy (d) to make noise

24. His courage won him honour.
In the above sentence he underlined word is
(a) Pronoun (b) Adjective (c) Noun (d) Verb

25. Choose the most appropriate one-word substitute for the expression given below:
"A man who speaks more than one language" is:
(a) Linguist (b) Philanthropist (c) Polytheist (d) Polyglot

26. “STHI3” HET f<U8 3l wal3d T U 31
(a) I3 (b) €€ (c) &€ (d) 5=5

27. It foft Ta-23 T faast @ & famH &dt I
(a) THAI3 =4I (b) WHAIS @<l (c) ATI& <4l (d) Agas @

28. Jo' {5 5g3 Aee & 7 9 A=< © I do-

fHd3™ AT I3<l d& feg IJ|

(a) fogme=<t (b) WSSt (c) vl (d) WHES

29. BIF TG UIT I TH § TILI6 <9 TES|
(a) BFA TS UF IJ Ia| (b) BFS STH UIT IS|
(c) BIF TS 83T TS| (d) BFS TS 3% Jl

30. 9499, fimig, AHY &' & faA fam wits wiee Ia|
(a) ASO-T O (b) THAZ-TTA (c) I=-Tgd (d) ¥ A-&<

Job Alerts | Previous Year Question Paper | Online MCQs



https://indiaexamjunction.com/
https://indiaexamjunction.com/government-jobs
https://indiaexamjunction.com/government-jobs?blog_cat=Punjab%20Question%20Paper%20Bank
https://indiaexamjunction.com/online-quiz

IndiaExamdJunction.com

JOB ALERTS | PREVIOUS YEAR QUESTION PAPERS | TEST SERIES

® © +9162398 22773 | Followus on: P S ©Q O @

ANSWER KEYS

—B

INDIA EXAM
JUNCTION

Aam

LN
(]
[o19)
[
(=W

.No. | Ans | Q.No. | Ans | Q.No. | Ans | Q.No. | Ans | Q.No. | Ans
1. A 7. A 13. D 19. B 25. D
2. B 8. B 14. B 20. * 26. C
3. A 9. C 15. B 21. B 27. B
4. D 10. B 16. B 22. A 28. B
5. A 11. B 17. A 23. A 29. A
6. A 12. C 18. D 24. C 30. C



https://indiaexamjunction.com/
https://indiaexamjunction.com/government-jobs
https://indiaexamjunction.com/government-jobs?blog_cat=Punjab%20Question%20Paper%20Bank
https://indiaexamjunction.com/online-quiz

QUESTION PAPER
FOREST GUARD 2022



https://indiaexamjunction.com/
https://indiaexamjunction.com/government-jobs
https://indiaexamjunction.com/government-jobs?blog_cat=Punjab%20Question%20Paper%20Bank
https://indiaexamjunction.com/online-quiz

Page 5 3

INDIA EXAM

JUNCTION o o +9162398 22773 | Follow us on: o | = oo@

.Com

EE JOB ALERTS | PREVIOUS YEAR QUESTION PAPERS | TEST SERIES

1.y &9 fdat yarg @ f8aras |

(a) o (b) 5o (T

2. I Bfemir {35 fagdt srga & famd &t J1
BEEEMCIEL (b) IIG I (c) TIH I
3. 2 3% 1S Aetdl o 98 Ugee #31

(a) I (b) NS (c) it

4. "UAgT AgT €9 fAag waisg I
(a) MYy (b) (c) WMUH

5. do' § TH BLQE HIRI T i wIH T g I |
(a) WG Harer (b) SH I 2=t

(c) JAIET (d) F& BHEG=T

6. 35 fBftmr oS Ho Aee & g 3|
(a) HS (b) 3 (c) S

7. TUfgar Aee o fom flug3a St =g3 IR I
(a) faar (b) ST (c) wifar

8. WIIHS fafanwr I fa e I
(a) IIH AfT3 (b) IIH IT3 (c) II3 AlIS

9. UArs fST I © Sg<96 off J=ar|
(a) I=E (b) I (c) T=rEt

10. @8 TFAZ R TI A J|
(a) HI=T" (b) fafowr fenme () we

(d)gg

(d) wHST g9

(d) A=Y

(d) wr

v

(d) &S

(d) fag

(d) II3" I3

(d) TSI

(d) g
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11. SRS $ YJIC 336 Bl €93 A Al f'os € g o3|
(a) fEIT (b) WO (c) gt (d) HeI3"

12. fea T AHGIE FEe J|
(a) I3 (b) I&I (c) HH (d) A=g

13. 933 ©WOg 3 F At fdAH € I& |
(a) B (b) 2 (c) ¥ (d) U+

14. 5" sy ag3 A S v i Age T Je oo -

I3 gl wWgde @8 I |
(a) EITat (b) IHSIT T (c) AETOTat (d) Bargrat

15. &< &t fTAH © Je 957
(a) 9 (b) 38 (c) A (d)&

16. 10 persons at a party shake hands once with everyone else in the room. How
handshakes took place ?
(a) 66 (b) 64 (c) 45 (d) None of the above

17. Which of the following body is responsible for promoting hockey in India at present ?
(a) Hockey India (b) Indian Hockey Federation
(c) Federation of Hockey in India (d) Indian Hockey Promotion Federation

18. What is the name of the technology on which cryptocurrency is based ?
(a) Blockchain technology (b) Robotic process automation
(c) Machine learning (d) Internet of Things

19. Current population of a town is 50000. It is growing at the rate of 5% in first year 4% in
second year and 2% in third year. The population at the end of third year is
(a) 55500 (b) 55692 (c) 54600 (d) 54692

20. CAPSTONE a satellite which was in news recently is launched by
(a) ISRO (b) NASA (c) Roscosmos (d) CNES/CNES
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21. Which part of the body is most affected by Mercury ?
(a) Brain (b) Lungs (c) Nervous System  (d) Liver

22. Which country won the FIEA World Cup 2018 held in Russia ?

(a) Croatia (b) Brazil (c) Germany (d) France

23. UIDAI has launched a new mobile pp named which performs face authentication ?
(a) Face Recognition (b) Face identifier

(c) Aadhaar FaceRd (d) Aadhaar Face Recognition

24. What is the theme IWA World Water Congress and Exhibition 2022 ?
(a) Water for smart liveable cities (b) Water for planet
(c) Water for cities (d) Water for all

25. If Y =50 and WATER = 134, then DAD will be equal to
(a) 18 (b) 99 (c)9 (d)6

26. Which of the following is not a literary composition by Kalidasa?
(a) Meghaduta (b) The Raghuvan
(c) Abhijnanashakuntala (d) Panchvati

27. Oriental Bank of Commerce has been merged with which bank?
(a) Bank of Baroda (b) State Bank of India
(c) Indian Bank (d)Punjab National Bank

28.Who among the following led the Bardoli Satyagraha in Gujarat?
(a) Sardar Vallabhbhai Patel (b) Mahatma Gandhi
(c) Jawahar Lal Nehru (d) Gopal Krishan Gokhale

29. A merchant has 1000 kg of sugar part of which he sells profit of 9% and rest of the sugar
he sells at 19% profit. His overall gain is 15%. The quantity sold at 9% profit is
(a) 600 kg (b) 400 kg (c) 560 kg (d) 640 kg

30. First Lithium cell manufacturing plant of India shall be developed at:
(a) Tirupati, Andhra Pradesh (b) Chennai, Tamil Nadu
(c) Vapi, Gujarat (d) Boisar, Maharashtra

31. Quit India Movement was launched in response to:
(a) Cabinet Mission Plan (b) Cripps Proposals
(c) Simon Commission Report (d) Wavell Plan
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32. Who started the Manji system in Sikhism?
(a) Guru Nanak Dev (b) Guru Angad Dev
(c) Guru Amar Das (d) Guru Gobind Singh

33. Choose the word within the group that is the least similar to the others.
(a) Duck (b) Swan (c) Goose (d) Parrot

34. Where is central Sikh museum located?
(a) Kapurthala (b) Ferozepur (c) Jalandhar (d) Amritsar

35. Hypoglycemin and hyperglycaemia are related to which among the following :
(a) Blood Sugar (b) Body Fat (c) Respiration (d) Thyroid

36. Computer keyboard shortcut which is used to change case is
(a) Ctrl+F3 (b) Shift+F3 (c) Alt+F3 (d) Ctrl+Shift+F3

37. When was Punjabi Suba originated?
(a) 1 November 1965 (b) 1 November 1966
(c) 1 November 1968 (d) 1 November 1967

38. Which is the state bird of Punjab?
(a) Pigeon (b) Falcon (c) Peacock (d) Sparrow

39. What was the name of the father of Dalip Singh, the last Sikh king of Punjab?
(a) Charat Singh (b) Maharaja Ranijit Singh
(c) Buddha Singh (d) Sardar Maha Singh

40. Which of the following divisions is not a part of the Punjab administrative division ?
(a) Faridkot Division (b) Fazilka Division
(c) Ferozepur Division (d) Ropar Division

41. Which of the following is the correct order of the four major functions of a computer?
(a) Process, Output, Input, Storage (b) Input, Output, Process, Storage
(c) Process, Storage, Input, Output (d) Input, Process, Output, Storage

42. When was the foundation of the British Empire laid in Punjab?
(a) 1849 (b) 1857 (c) 1882 (d) 1850

43. At which place in Punjab 'Roshnian Da Thiuhar' is celebrated?
(a) Ludhiana (b) Jagraon (c) Jarag (d) Malerkotla
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44. Which of the following is capable of recognizing a pre-specified type of mark by pencil or
pen?
(a) OMR (b) Winchester (c) Bar code reader  (d) Image Scanner

45. In a computer spreadsheet, cell range A3 through G3 should be keyed in as
(a) A3-G3 (b) A3:G3 (c) A3?.G3 (d) A3 to G3

46. Who is considered to be the first poet of Punjabi language?
(a) Baba Bulleh Shah (b) Guru Angad Dev
(c) Waris Shah (d) Baba Farid

47 .What was the old name of Bathinda?
(a) Bikramgarh (b) Ramgarh (c) Phul (d) Bahia Fort

48.Which is the main source of irrigation in Punjab state?
(a) River (b) Canal (c) Rain (d) Tubewell

49. VLOOKUP function
(a) Finds related records (b) Looks up text that contain “v”
(c) Check if two cells are identical (d) None of above

50. The Anglo-Sikh War was fought between:
(a) Between the British and the Sikhs (b) Between the British and the Muslims
(c) Between Sikhs and Muslims (d) Between Sikhs and Rajput kings

51. Which of the following movements is not a part of Gurdwara reform movement?
(a) Saka Nankana Sahib (b) Jaiton Da Morcha
(c) Naamdhari Movement (d) Guru Ka Bagh Da Morcha

52.Which of the following is a correct format of Email address?
(a) name@website@info (b) name@website.info
(c) www.nameofebsite.com (d) name.website.com

53. An attempt to harm, damage or cause threat to a system or network is broadly termed
as
(a) Cyber-crime (b) Cyber Attack (c) System hijacking (d) Digital crime

54. Who was the pioneer of Vardhan period?
(a) Harsh Vardhan (b) Pushyabhuti (c) Pushyamitra (d) Kanishka
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55. Before declaration as District Fazilka was part of
(a) Abohar (b) Shri Muktsar Sahib
(c) Ferozepur (d) Bathinda

56. Who is called Manchester of Punjab?
(a) Chandigarh (b) Bathinda (c) Ludhiana (d) Gurdaspur

57.The festival of Jarag is held in honour of which goddess?
(a) Sitala Mata (b) Vaishno Mata (c) Kali Mata (d) Mother Lakshmi

58. Which Guru Sahib compiled Sri Guru Granth Sahib?
(a) Guru Harkrishna Ji (b) Guru Ram Das Ji
(c) Guru Angad Dev Ji (d) Guru Arjan Dev Ji

59. Bani of how many Gurus is included in Guru Granth Sahib?
(a) 06 (b) 09 (c) 10 (d)13

60. Small text files that websites put on your computer to store information about you and
your preferences is known as
(a) URL (b) Cookies (c) Address (d) Home Page

61.Which of the following method can insert a new slide in current presentation?
(a) From Design menu choose Page setup  (b) From Insert menu choose New Slide
(c) From Home menu choose Layout (d) From Home menu choose reset

62. Zafarnama is written by
(a) Guru Nanak Dev Ji (b) Guru Hargobind Ji
(c) Guru Har Rai Ji (d) Guru Gobind Singh Ji

63. In a computer spreadsheet, SUM, AVERAGE, MIN and MAX are examples of
(a) Calculations (b) Formulas (c) Functions (d) Relative addressing

64. Whose work or creation is Guru Shabad Ratnakara Mahan Kosh?
(a) Bhai Veer Singh (b) Bhai Kahan Singh Nabha
(c) Dhani Ram Chatrik (d) Giani Gurdit Singh

65. When was the Khalsa Panth founded ?
(a) 1697 (b) 1698 (c) 1699 (d) 1666

66. If each side of a square is increased by 30% find the percentage change in the area.
(a) 56.25 (b) 65 (c) 69 (d) None of the above
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67. Which country has the maximum forest cover in the world ?
(a) Canada (b) Democratic Republic of Congo
(c) Brazil (d) Russia

68. The upper house of British Parliament is called
(a) Senate (b) House of Lords
(c) House of Commons (d) House of representatives

69. Interchange the signs and find the correct solution :
(a) +and * (b) +and = (c)+and/ (d)—and *

70. Which country has won cricket world cup for the maximum number of times ?
(a) Australia (b) India (c) West Indies (d) England

71. Fundamental duties are given in which part of the Indian Constitution?
(a) Part lI(A) (b) Part IV(A) (c) Part IV(B) (d) Part I1I(B)

72. A cistern is normally filled with water in 8 hours but takes 2 hours longer to fill because
of a leak in its bottom. If cistern is full, the leak will empty the cistern in
(a) 10 hours (b) 6 hours (c) 40 hours (d) None of the above

73. In a row full of sitting people when counted, Suresh is 16th from both the ends.
(a) 16 (b) 32 (c)31 (d) 30

74. If the cost price of 18 notebooks is equal to selling price of 10 notebooks, the price in
percentage on cost price is:
(a) 50% (b) 80% (c) 100% (d) None of the above

75. You are given that a train 'P’ is moving at the speed of 90 km per hour and another train
‘Q’ is moving at the speed of 60 km per hour in the same direction. If length of faster train is
500 metres and it crosses the slower train in two minutes. The length of slower train is :

(a) 500 metres (b) more than 500 metres

(c) Less than 500 metres (d) Cannot be determined

76. Ramesh said to a man "He is the son of a man who is the father of the wife of my
father”. How is the man related to Ramesh ?
(a) Father (b) Son (c) Uncle (d) Grandfather

77. Choose the collection of symbols that can be properly adapted to the question.
8 8 4 255 9=10
(a) X) _;+)+ (b) XP+P _P+ (C) XFXF -~ (d) XIXI _1+
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78. Which city is called the culture hub of Punjab ?
(a) Anandpur Sahib (b) Amritsar
(c) Muktsar (d) Jalandhar

79. Which of the following cannot be the square of a natural number?
(a) 30565 (b) 45907 (c) 83786 (d) 34894

80. When did Mahatma Gandhi start the Salt Satyagraha?
(a) 1929 (b) 1930 (c) 1931 (d) 1932

81. Ram alone can do a piece of work in 12 days. Shyam can do the same work in 16 days. In
order to complete the work faster, three persons Ram, Shyam and Sita together finished the
work in 6 days and were paid total amount of Re 6400. How much is the share of Sita on pro
rata basis ?

(a) Rs. 1200 (b) Rs. 1000 (c) Rs. 800 (d) Rs. 600

82. Which of the following is exactly divisible by 7, 11, 13 and also 16?
(a) 16016 (b) 15035 (c) 16026 (d) 15119

83. Who is the Vice Chairperson of Niti Aayog?
(a) Suman Bery (b) Ashish Chauhan (c) Shaktikanta Das (d) Arvind Panagariya

84. Tomb of Sand, the first novel written in an Indian language which has won the booker
prize is authored by
(a) Chetan Bhagat (b) Geetanjali Shree (c) Amrita Pritam (d) Jhumpa Lahiri

85. In speedy bike race, A fast rider wants to move at an amazing speed with a winning the
race overtakes the rider on 8% position with some time and efforts over rider on 5t
position. After further more efforts and correct decisions at the correct finally overtakes the
rider on third position coming very close to winning the race the current position of the
rider on the race track?

(a) 1st (b) 2nd (C) 3rd (d) 4th

86. What least number must be subtracted from 23891, so that the remainder is divisible by
877
(a) 56 (b) 46 (c) 53 (d) 66
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87. A boat sails 20 km of a river towards upstream in 4 hours. How long it will take to cover
the same distance downstream, if the Speed of current is one-fifth the speed of the boat in
still water ?

(a) 4 hours (b) 2 hours 40 minutes

(c) 3 hours 20 minutes (d) 5 hours

88. Base of a right-angle triangle is 18 cm and its area is 162 sq cm. Find its height.
(a)9cm (b) 27 cm (c) 36 cm (d) None of the above

89. A rectangular block 9 cm by 12 cm by 15 cm is cut up into an exact number of equal
cubes. What will be the least possible number of cubes?
(a) 60 (b) 40 (c) 50 (d) none of the above

90. Who was the person who commanded the British force to fire on the crowd present in
Jallianwala Bagh ?

(a) General Dyer (b) Warren Hastings

(c) Lord Minto (d) William Butterworth Bayley

91. A sum of Rs. 4240 is to be divided among A, B and C in such a way that the ratio between
A and B is 7:6 and ratio between B and Cis 9:7 and ratio between A and Cis 3:2. The

share of A is:

(a) 1442 (b) 2100 (c) 1680 (d) None of the above

92. NIFTY50: India :: Dow Jones:
(a) United Kingdom (b) United States of America
(c) Canada (d) Germany

93. Dog: Paw::Horse:
(a) Fast (b) Paw (c) Hoof (d) Tall

94. Which gas is emitted naturally by the soil ?
(a) Radon (b) Propane (c) Methane (d) Argon

95. 'Namak Ka Daroga’ a famous social story is written by
(a) Munshi Premchand (b) Mahadevi Verma
(c) Harivansh Rai Bachchan (d) Jaishankar Prasad

96. The oath of office is administered to President of India by
(a) Chief Justice of India (b) Solicitor General of India
(c) Vice President (d) Speaker of Lok Sabha
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97. 10 years ago, age of Vikram was 13 times the age of Avi. After 10 years ratio of ages of
Vikram will be 11:23. What is the present age of Vikram ?
(a) 36 (b) 30 (c) 49 (d) 23

98. Find the next number in the sequence of numbers given below:
2,4,12,48, 240, ?
(a) 1440 (b) 1024 (c)o (d) 480

99. If a solid metal ball with a diameter of 12 cm is melted to convert to a solid cylinder with
same diameter, the height of the cylinder is:
(a)12 cm (b) 6 cm (c)9cm (d) 8 cm

100. Average age of A and B is 40 years and similarly, average age of B and Cis 42 years an
average age of A and Cis 44 years. The age of Cis:
(a) 44 years (b) 45 years (c) 46 years (d) 43 years

101. Which country is the winner of Asia Cup 2022 Cricket Tournament ?
(a) Pakistan (b) India (c) Sri Lanka (d) Bangladesh

102. 38 persons can repair a road in 14 days working 5 hours a day. In how many days will
20 persons working 7 hours a day can complete the work ?
(a) 20 days (b) 19 days (c) 18 days (d) Cannot be determined

103. By selling an article for Rs. 3956 a trader incurs loss of 8%, What will the selling price if
he earns a profit of 6% ?
(a) Rs. 4558 (b) Rs. 4193 (c) Rs. 3718 (d) None of the above

104. Wo is the new Chief Justice of India ?
(a) Uday Umesh Lalit (b) NV Ramana
(c) Dhananjaya Y Chandrachud (d) Sharad Arvind Bobde

105. Kuno National Park which has recently been in news is in
(a) Chhattisgarh (b) Madhya Pradesh (c) Gujarat (d) Assam

106. Which of the following sentences is not correct ?

(a) She is five feet tall.

b) Since | left school, | have been working as typist in this company.
(c) Are you hearing a noise?

(d) A hammer is used for driving in nails.

107. Choose the most appropriate meaning of 'Reticule':
(a) a boy's purse (b) a theft (c) alady’s purse (d) sleep
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108. Choose the correct proverb.

(a) It ever rains but pours.

(b) It takes three to make a quarrel.

(c) Kill not the goose that lay the golden eggs.
(d) Killing three birds with two stone.

109. Change the following into Passive voice:

| found him sleeping.

(a) Sleeping was found by him (b) I am found sleeping by him
(c) He was found sleeping by him (d) He was found sleeping by me.

110. To meet one's waterloo means :
(a) to meet one's defeat (b) to meet Napolean

(c) to get into water (d) to get one's victory

111. Find out the correct spelling:
(a) Rheumatic (b) Rheumetic (c) Rhumetic (d) Rhumatic

112. 'Radius' is the singular of :

(a) Radi (b) Radee (c) Radii (d) Radius
113. Choose the correct word for the blanks.

He that that he could speak five languages.

(a) Challenged (b) Boasted (c) Suggested (d) Submitted

114. The antonym of MALIGN is :
(a) slender (b) praise (c) criticize (d) none of the above

115. Adjective form of word ‘Silk’ is:
(a) Silken (b) Silkness (c) Silkless (d) Silkful

116. Punctuate the following :

It is mind after all which does the work of the world said my mother

a) It is mind after all which does the work of the world, said my mother.

(b) It is mind, after all which does the work of the world, said my mother.
(c) It is mind, after all, which does the work of the world, "said my mother”
(d) "It is mind, after all, which does the work of the world", said my mother.

117. Choose the noun form of the given word:
‘Choose’
(a) Chosen (b) Choosen (c) Chesen (d) Choice
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118. Change the following into an Indirect statement:
"Do you hear me?" said Shylock to Antonio.

(a) Shylock told Antonio that he heard him.

(b) Shylock asked Antonio if he heard him.

(c) Shylock asked Antonio whether he hears him.

(d) None of the above.

119. Fill in the blank with correct option.
| have no control my temper.
(a) in (b) over (c) at (d) after

120. Arrange the given parts of the sentence in order to produce a correct sentence:
P. when a chemical substance

Q. The food poisoning occurred

R. in the food preparation

S. was mistaken for salt and used

(a) QSRP (b) QPSR (c) QPRS (d) SPQR
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ANSWER KEYS

Q.No. | Ans | Q.No. | Ans | Q.No. | Ans | Q.No. | Ans | Q.No. | Ans
1. C 25. A 49, A 73. C 97. A
2. D 26. D 50. A 74. B 98. A
3. C 27. D 51. C 75. A 99. D
4, A 28. A 52. B 76. C 100. C
5. B 29. B 53. B 77. D 101. C
6. C 30. A 54, B 78. B 102. B
7. C 31. B 55. C 79. B 103. A
8. B 32. C 56. C 80. B 104. C
9. B 33. D 57. A 81. C 105. B

10. C 34. D 58. D 82. A 106. C
11. A 35. A 59. A 83. A 107. C
12. D 36. B 60. B 84. B 108. C
13. C 37. B 61. B 85. C 109. D
14. C 38. B 62. D 86. C 110. A
15. C 39. B 63. C 87. B 111. A
16. C 40. B 64. B 88. D 112. C
17. A 41. D 65. C 89. A 113. B
18. A 42. A 66. C 90. A 114. B
19. B 43. B 67. D 91. C 115. A
20. B 44, A 68. B 92. B 116. D
21. C 45. B 69. A 93. C 117. D
22. D 46. D 70. A 94. | AC | 118. B
23. C 47. A 71. B 95. A 119. B
24, A 48. D 72. C 96. A 120. B
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1. o AEE-AF fag37 37
(a) =TT (b) =Tz (c) =T (d) feazr

2. ‘nedisr AT feg fugsg I:
(a) BT (b) Hia™ (c) & (d) 3T

3. “A9 &t IH3 A UJ gAfom aet &7 foH o feg Age du’ UZs< of f9I3t famd
J?
(a) viforoega (b) formgeoa (c) fodeoa (d) FEOegd

L. “59 U3 I I&I" for feg mee ‘I fafomr & fagdt Qu-1=t 372
(a) HeS Aoaa Jfar (b) IFTTF ATBS fafanr
(c) IIHT IS AI&d fafanwr (d) Bt &5 g &t

5. WHTE YJ' IJ- IJ & I T
(a) gt (b) T3t (c) B qret (d) Wi Jret

6. Note: Give the right option for each of the following questions.
Which of the following is not a synonym of "circumspect" ?
(A) vigilant (b) incautious (c) prudent (d) mindful

7. The meaning of "a sitting duck" is something or somebody
(a) very pretty (b) extremely inactive
(C) brooding in silence (d) easy to attack

8. A philanthropist is one who
(A) helps those in need (B) collects stamps
(C) collects coins (D) picks up quarrels with others

9. Which among the following is an abstract noun?

(a) cattle (b) pain (C) gold (d) manmohan

10. is a verb used in conjunction with the main verb to express shades of time and
mood.

(A) modal auxiliary  (B) transitive verb (C) regular verb (D) helping verb
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11. In a certain code language, GENERATIONS is written as RENEGASNOIT. How is
ESTABLISHED written in that code?
(A) BATSELDEHSI (B) BAETSLDEIHS (C) BAETSLEDIHS (D) BEATHLDEIHS

12. In a certain code language, CONTRABAND is written as NDBAARNTOC. How is
POPULATION written in that code?
(A) ONTILAPUPO (B) ONTIALPUOP (C) ONTILAPOPU (D) ONITALPUOP

13. If AMBULANCE = 18, HOSPITAL = 16, DOCTOR = 6. THEN ACCIDENT =?
(a) 20 (b) 12 (c) 18 (d) 16

14. If HE = 41, SHE = 49, then SOME will be equal to
(a) 58 (b) 62 (c) 56 (d) 64

15. Going 50 m to the South of her place, Ritu turns left and goes another 20 m. Then,
turning to his left again, she goes 50 m and then starts walking to her place. In which
direction is she walking now ?

(A) North-west (b) North (C) South-east (d) East

16. Ramesh walks 30 metres towards South. Then, turning to his right, he walks 30 metres.

Then, turning to his left, he walks 20 metres. Again, he turns to his left and walks 30 metres.

How far is he from his initial position ?
(a) 20 metres (b) 60 metres (c) 80 metres (d) 50 metres

17. Choose the odd one out in the group.
(a) legs (b) Ears (c) Hands (d) Tounge

18. Dog is related to puppy in the same way as Fish is related to
(a) Fin (b) Fry (c) Foal (d) Fawn

19. What comes after 33, 5b, 9d, 15g, ?
(a) 27p (b) 23k (c) 25n (d) 25j

20. Solve the given series: 6, 12, 21, ?, 48.
(a) 38 (b) 33 (c) 40 (d) 45

21. Name the country which is not a non-permanent member of the UN Security council as
on October 2022 ?
(a) Gabon (B) Indonesia (c) Kenya (d) Norway
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22. Who is the National Security Advisor of the USA under President Joe Biden:
(a) Susan Rice (b) Condoleeza Rice
(c) John R. Bolton (d) Jake Sullivan

23. Which one out of the four is not a part of annexed territories of Ukraine for which
Russian President Vladimir Putin recently made official declaration on 30 Sep 2022.
(A) Lviv (b) Kherson (c) Luhansk (d) Donetsk

24. Name the country which co-hosted the WTQ's Ministerial Conference (MC12) in June
2022.
(A) Tajikistan (b) Turkmenistan (c) Kazakhstan (d) Uzbekistan

25. Sendai Framework for Disaster Risk Reduction Agreement was announced in year:
(A) March 2015 (b) March 2017 (C) March 2019 (d) March 2021

26. Reduced Inequalities is one of the targets under SDG Goals at Number:
(@) 3 (b) 6 (c) 10 (d)13

27. Name the person below who has never been PM of UK in post World War-Il period:
(A) Liz Truss (b) Theresa May (C) Tony Blair (d) Christine Lagarde

28. Identify what is not true about India's Foreign Policy initiatives currently:
(A) India to hold COP 27 Summit this year 2022

(b) India is a non-permanent member of the UN Security Council as on date
(c) India’s presidency of G-20 to begin from 01 December 2022

(d) India to hold SCO Summit in September 2023

29. Which country is not a member of New Quad 12U2 ?
(a) Israel (b) Ireland (c) USA (d) UAE

30. Which country is not member of WTO out of list of 164 countries as on date ?
(a) Turkmenistan (b) Russia (c) China (d) Ukraine
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1. Three out of the four alternatives are same in a certain way and so form a group. Find the
odd one that does not belong to the group:
(a) Smell (b) Aroma (c) A foul smell (d) Incense

2. In which year India won its last gold medal in hockey in Olympics ?
(a) 1980 (b) 1976 (c) 1972 (d) 1984

3. The compound interest on a sum at the rate of 5% for two years is Rs. 512.50. The sum is
(a) Rs. 5200 (b) Rs. 4800 (c) Rs. 5000 (d) Rs. 5500

4. Which company has initiated a multilingual awareness campaign against digital fraud in
India ?

(a) Google (b) Cisco Systems

(c) Meta Platforms Inc. (d) Twitter Inc.

5. Sumit and Rajan run on a circular track of circumference 600 m with a speed of 5 km/h
and 2 km/h. They start from the same place at the same time and in the same direction.
When will they be together again for the first time ?

(a) 360 s (b) 540 s (c) 720 s (d) 900 s

6. Who has authored the book Queen of Fire ?
(a) Ashwini Shrivastava (b) Devika Rangachari

(c) Kajal Suri (d) Danya Kukafka

7. Which city was named as capital of Punjab after India got its independence in 19477
(a) Ambala (b) Amritsar (c) Shimla (d) Patiala

8. Total number of Lok Sabha seats in India are
(a) 545 (b) 542 (c) 543 (d) 540

9. In which year Reserve Bank of India was established ?

(a) 1935 (b) 1947 (c) 1950 (d) 1965
10. Droupadi Murmu is the president of India.
(a) 14t (b) 15t (c) 13t (d) 10t

11. ‘Hour’ is related to 'Second’ in the same was as ‘Tertiary’ is related to
(a) Ordinary (b) Secondary (c) Primary (d) Intermediary
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12. A cylindrical vessel 60 cm in diameter is partially filled with water, A sphere 30 cm in
diameter dropped into it. The increase in the level of water in the vessel is
(a) 2cm (b) 3cm (c) 4 cm (d) 5cm

13. World Bamboo Day is observed on
(a) September 5 (b) August 18 (c) June 5 (d) September 18

14. Who was the founder of Abhinav Bharat Society ?
(a) Rash Behari Bose (b) Lala Lajpat Rai
(c) Vinayak Damodar Savarkar (d) Sri Aurobindo

15. Three out of the four alternatives are same in a certain way and so form a group. Find
the odd one that does not belong to the group :
(a) Premchand (b) Kalidas (c) Shakespeare (d) G. B. Shaw

16. International day for the preservation of Ozone layer is celebrated on
(a) 16 September (b) 20 September (c) 18 October (d) 5 June

17. A piece of work can be done by 6 men and 5 women in 6 days or 3 men and 4 women in

10 days. It can be done by 9 men and 15 womenin __ days.
(@)1 (b) 2 (c)3 (d) 4
Direction: Q. No. (18- 20) are based on the data given below.
2018-19 (Actual) 2020-21 (Actual) 2024-25 (Estimated)
Trucks and Buses 93000 103000 126000
Total LCV 92400 121390 210440
Jeeps 49000 63680 107550
Total Cars 242000 287520 405858
Maruti Cars 180000 213860 301880
Tractors 161420 17490 204240
Scooters 804990 921427 1208100
Moto Cycles 72000 51881 28000

18. What is the approximate estimated growth (in percentage terms) in the production of
scooters and motor cycles between 2020-21 and 2024-25?
() 41% (b) 31% (c) 48% (d) 27%

19. The LCV production estimated for 2024-25 is revised downward by 15%. The expected
rate of growth of Trucks and Buses from 2020-21 to 2024-25 is revised upward to 40% What
is the new combined growth rate of the two categories over the period 2018-19 to 2024-25?
(@) 91.6 % (b) 43.9% (c) 59.7 % (d) 74.3 %
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20. What was the appropriate compounded annual growth rate in the production of jeeps
between 2018-19 and 2020-21 ?
(@) 14 % (b) 30 % (c)21% (d) 6%

21. Fill in the blank with correct option :
A pair of scissors necessary for craftwork.
(a) was (b) are (c) were (d)is

22. Mark the correct Article in the following sentence.
This is pen | have been looking for.
(a) a (b) an (c) the (d) None of the above

23. Tick the correctly punctuated sentence.
(a) She said what a fool | am ? (b) She said, “What a fool | am !”
(c) She said, What a fool | am ? (d) She said, What a fool | am !

24. Point out the correct Indirect form of:

He said, "Alas ! | am ruined”.

(a) He exclaimed with joy that he was ruined.

(b) He exclaimed with sorrow that he is ruined.
(c) He exclaimed with sorrow that he was ruined.
(d) None of the above.

25. The antonym of ‘Friendly’ is:
(a) Frank (b) Candid (c) Hostile (d) Hospitable

26. OH3ad ATT feod U239 & 9 I

(a)yag (b)g (c) g (d) amitg

27. &t W3 fafanr & wiydt Aot §  fagr Aer 3
(a) IIH (b) fafanr femme () i< @& (d) fafomr el

28. &2 & B I3 AT AT IJ A A€ YHS U AR 37 @ f[I9FT uFse JIee
I?

(a) YH&S-T 9 UF&'< (b) fora-T9d UzFae

(c) WisHD-T9d UFse (d) fo A-T5d UFai<
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29. B SFH IV T e T I &M &5 far &8 Agfaz I
(a) ferme (b) I (c) wiETE (d) fafamr

30. YFo< fdat fTAH © Je I&
(a) 8 (b) T 2 (d) 99
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1. C 7. C 13. D 19. D 25. C
2. A 8. C 14. C 20. A 26. C
3. C 9. A 15. A 21. D 27. A
4. A 10. B 16. A 22. C 28. A
5. C 11. C 17. C 23. B 29. C
6. B 12. D 18. D 24. C 30. C
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1. First Five Year Plan was launched in the year
(a) 1948 (b) 1949 (c) 1950 (d) 1951

2. Which movie won the best movie award at 94th Academy Awards?
(a) Dune (b) Drive My Car (c) CODA (d) West Side Story

3. The sum of the ages of a son and father is 56 yrs. After 4 years, the age of the father will
be three times that of the son. What is the age of the son?
(a) 44 years (b) 12 years (c) 13 years (d) 22 years

4. What is the largest gland in human body?
(a) Hypothalamus (b) Pituitary (c) Thyroid (d) Liver

5. 12 men can complete a work in 18 days. Six days after they started working, 4 men joined
them. How many days will all of them take to finish the remaining work?
(@) 9 (b) 10 (c) 12 (d) 15

6. Who found the World Wide Web Consortium (W3C) at the laboratory of computer
science at Massachusetts Institute of Technology?
(a) Tim Berners-Lee (b) Steve Shirley (c) James Gosling (d) Steve Wozniak

7. A clock is set right at 5 am. The clock loses 16 min in 24 hours. What will be the right time
when the clock indicates 10 pm on the 4th day ?
(a) 11:15 pm (b) 11 pm (c) 12 pm (d) 12:30 pm

8. If PSQ means P is the father of Q, P#Q means P is the mother of Q, P*Q means P is the
sister of Q, then how is Q related to N in N#LSP*Q ?
(a) Grandson (b) Granddaughter  (c) Nephew (d) Data inadequate

9. ‘Fire' is related to 'Ashes' in the same was as 'Explosion' is related to
(a) Sound (b) Debris (c) Explosive (d) Flame

10. Who was the first Chief Minister of Punjab ?

(a) Gopi Chand Bhargava (b) Bhim Sen Sachar

(c) Pratap Singh Kairon (d) Ram Kishan

11. India won a total of _ medals in Commonwealth Games 2022 held in Birmingham.
(a) 61 (b) 22 (c) 23 (d) 58
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12. Find out the missing number.

1 [ 3] 7
5 |12 14
25 | ? | 28
125|192 | 56

(a) 40 (b) 48 (c) 56 (d) 64

13. The difference between the compound interest and the simple interest on a certain sum
of money at 5% per annum for 2 year is X 1.50. Find the sum.
(a) X400 (b) X500 (c)X 600 (d)X 700

14. Choose the option which contains a pair of words related to each other in the same way
as the pair given in capital letters.

WOOL : WARMTH :: ?

(a) Radio : Broadcast (b) Person : Success

(c) Marketing : Advertising (d) Spring : Elasticity

15. Carlos Alcaraz number one tennis player in men category (singles) in the world is from
which country ?
(a) Australia (b) America (c) France (d) Spain

16. The headquarters of United Nations Environment Programme (UNEP) is in
(a) Washington, USA (b) Paris, France (c) Beijing, China (d) Nairobi, Kenya

17. GIVEN is coded as 7922514, then code for NORTH is
(a) 141517198 (b) 141518208 (c) 141517207 (d) 141518198

18. The LCM of 2/3, 3/5, 4/7, 9/13 is
(a) 36 (b) 1/36 (c) 1/1365 (d) 12/455

19. Jim Corbett National Park is in
(a) Nainital (b) Gwalior (c) Bandipur (d) Betla

20. Which company has initiated a multilingual awareness campaign against digital fraud in
India ?

(a) Google (b) Cisco Systems

(c) Meta Platforms Inc. (d) Twitter Inc.

21. Use appropriate modal to fill the blank :
Which language | learn, French or Italian ?
(a) should (b) must (c) shall (d) need
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22. Select the most appropriate Preposition in the blank below :
Shilpa is hostile his suggestions.
(a) to (b) with (c) at (d) for

23. Fill in the blank with suitable option :
The sun the whole day yesterday.
(a) was shining (b) shone (c) had shined (d) shine

24. Change the following into Passive voice:

| am watching you very carefully.

(a) You are watched very carefully by me.

(b) You have been watched carefully by me.

(c) You are being watched very carefully by me.
(d) You are carefully watched by me.

25. Mark the correctly punctuated:

(a) we went through the smoky mountains near Shimla on our way to Leh.

(b We went through the smoky mountains near Shimla, on our way to Leh.
(c) “We went through, the smoky mountains near Shimla on our way to Leh”.
(d) We went through the smoky mountains, near Shimla on our way to Leh.

26. I it 39 ¥ H &' ge|

(a) TSN (b) AflIT (c) Iz (d) HEH
27. I&' {38 5g3 A=< & 7 9 #=e © Je do-

Aoz &3t IR I 7=

(a) IABT (b) W (c) TIBEI (d) IR =BT

28. I& 18femir T A& 3 HaT'= feud 3T & fars d9s 8 fawradfea gu & gt
CE|
(a) f&ar (b) TS (c) &= (d) I

29. & Bfemrr &5 Ho A< gel
(a) HI3T (b) A3 (c) A3T (d) A3T"

30. It fBfipr 3T gF3€ HaT T feddt me<e gel
(a) AT (b) Her (c) fHe™ (d) IIH3
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.No. | Ans | Q.No. | Ans | Q.No. | Ans | Q.No. | Ans | Q.No. | Ans
1. D 7. B 13. C 19. A 25. B
2. C 8. D 14. D 20. A 26. A
3. B 9. B 15. D 21. A 27. A
4. D 10. A 16. D 22. A 28. A
5. A 11. A 17. B 23. B 29. D
6. A 12. B 18. A 24, C 30. C
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